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Covid Instructions are not applicable fcir, PvUSDE stùdents (Apri! 2Q21 session)

7. In cøses uhere choices are prouid.ed, students can dttend. all questions ioìàch snction.

2- The minimum nurnber of Quegtions to be atteided. from the Section / Paft shall remaín. th.e so.mc,.

....., .:,t.::.... ..

3. The instrut:tion if a1;1, tò attend, a,rninimum number òf.Questions ftom èirch. sub section /sub part /
sub cJioision may bê ignored. , t .,,, . :.ì,. . '

4. Thefe will be ø.n ouerøll ceiling fotr elach Se.ction / Part th(î¡t ís equilalent to the ncuimum weightage

of:,the,Se,c.tion / Part. . ...::..

.. ì. ,. part A

' I 
... .. ' ,, Aryswe'r any fout questions'

'.Elach question carries 2 ueightøge.

1. Enlist the factors determining capital structure ofthe firm.
.'2. What is direct lease ? ,. t, . .t 

I

3. Compare concentric and conglomerate met$èr.

4. Explain MBV.

5. Compate friendly takgovér witþ hostile talceover

6. Explain sell-off.

7. What is sustainâble growth rate ? :'

14x2=Sweightage)
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Parl, B

Answer aì5ì fottl¡ quQstiorls. . ì ì

Eøch questioi eanies 3 iteiþhtøge. '

8. Acompanyhas earnings pèi Share ofRs. 10. The equify's capitalization ratc.beingI27.. Show the

impact on the rnarket price of the share under various dividend policies assuming the rate of

rcturn gcncratcd by thc lirm is I57o. LcL the clividend policy be : il |a/a pay out I ancl

ii) 1007o payout. (Walter's model)., ' . : ... ,

9. ALtd. has the following capital sti'ucture:Rs. Equity share capital (of Rs. 100 each) Rs. 1,00,000,

107o Preference share capital (of Rs. 100 each) Rs. 2,00,000, 107¿ tlebentures tof Rs. 100 each)

2,00,000. If EBIT is : (i) Rs. 1,00,000 ; (ii) Rs. 80,000 ; and (iii) Rs. 1,20,0Ò0, Calculate financial

leverage uncler th ree situalions. Assume 50o/o tax rate

10. The following frgures are extracted from company rccords :

.:I I .'
t Ru pees )

....
Profit before tax .. ' . ... 2.50.ro."

Ta-x ràte. . ..:..40o/o

Retentiòniatio ... 40o/o

No. of outstanding sharcs ..,. .50,00,000

Equity capitãlization rate . . ... L2%

Rate ofreturn on investment ... LSVo

What should be the market price per share according to Gordon's model ?

11. Enumerate the featulcs ofEVA.

12. Whal, are thc factors iniluencing option price ?

13. Explain the benefìt"s oflease to the borrower.

14. WÌìât âre the reasons for spin-offs ?

(4 x 3 = 12 weightage)
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15.
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Part C

Answer øny two questions.

Each question carries 5 weightøge.
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xYZ Ltd. requires an equipment costing Rs. 10,00,000 which can be utilized over a period of 5

years. It has two financing options in this regard :

(i) Arrangement of a loan of Rs.10,00,000 atISVo p.annum;which can be repayable in 5

equal year end installments; the equipment can be sold for Rs.1,00,000 at the end of

5 years.

(ii) Leasing the equipment for a period of five years at an yearly rental of Rs'3,30,000, payable

at the year end'

The rate of depre.is l57o at w.d.v, income tax rate-357o,discount rate 12Vo- Advice which

option is the best'

Following info, is provided relating to acquiring company Mani Ltd. and the target company Ratnam

Lrd.
16.

Earnings after tax(lakhs)

No. of shares outstanding(lakhs)

PÆ Ratio(no. of times)

Mani Ltd.

2000

200

10

Ratnam Ltd.

4,000

1000

5

17.

18.

Required:

(i) What is the swap ratio based on current market prices ?

(iÐ What is the EPS of Mani Ltd' after acquisition ?

(iiÐ What is the expected market price per share of Mani Ltd. after the acquisition,assuming

its PE ratio is adversely affected by l|Vo?

(iv) Determine the market value of the merged co'

(v) Calcuìate gainlloss to the shareholders of the two independent entities.

Discuss different types of mergers and acquisitions'

what is leverage buyout ? what are its advantages and disadvantages ?
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